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S=V. LCI SIS 5E : with the sum
of their HCF and LCM being 1710. If one of the two numbers is

240, then what is the other number?

&l T=AT3M BT LCM ITd HCF$r563=n%, 3% HCF 3%
| LCM BT IRT 1710 g1 IS & T=mafi & | U | A1 240 7, ot
(a) 210
L DRYA

(c) 57

(d) 1680




=Y. me
of their HCF and LCM being 1710. If one of the two nhumbers is

240, then what is the other number?

oY §&=T3i BT LCM 3T HCFW563=|1% 3% HCF 3R

| LCM &T a1 1710 81 afe g I=13fi # A Th J&AT 240 @, al
| ot Wien @ R
L (b) 171

(c) 57

(d) 1680
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(\@ CCGL/( L/ CPO /L 'r ”—-: e
finish it i . They worked t or 4 days and
left. B finished the remaining work. For how many total number
. of days did B work to finish the work completely? 1

A TS HTH B 16 fa T IR1 2 Tbar g 3k B IA 12 fe=i A
wwm%a@ﬁf%ﬁwwwzrmmaﬁvﬁw

|

| A= T B 7 S 3 1 | o  quf wu A W |
P & forg B 1 e & a wrd faam?
(a) 6 T
(3)4
)8
(d) 9
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Q:-3. Find the greatest number 23a68b, which is divisible by 3
but not divisible by 9 ?

a9 I8t VAT 23a68b JTd HIfo1E, St 3 ¥ faursa g wife 9
| I faurs T8 872
| (a) 238689
(b) 239685
(c) 239688
(d) 237687
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Q:-3. Find the greatest number 23a68b, which is divisible by 3
but not divisible by 9 ?

a9 I8t VAT 23a68b JTd HIfo1E, St 3 ¥ faursa g wife 9
I faursg T8 82
| (a) 238689
| (c) 239688
(d) 237687




Q:23. A sold a mobile phone to B at a gain of 25% and B sold it
to C at a loss of 10%. If C paid Rs. 5,625 for it, how much did A
pay (in Rs.) for the phone?

Agwrhmuﬁ# B @1 25% & AT TR o7 3k B A 9 C HI 10%

| o g1 R 99 feari afe ¢ 74 5. 59 1w 5,625, €A WwiF & forg
| foaT Yae fear (ud )2

' (a) 4500
L(b)4800
' (c) 5100

(d) 5000




Q:23. A sold a mobile phone to B at a gain of 25% and B sold it
to C at a loss of 10%. If C paid Rs. 5,625 for it, how much did A
pay (in Rs.) for the phone?
Agwrhmuﬁ# B &1 25% & ATH UR o<1 3N B A 39 C Bl 10%

| o g1 R 99 feari afe ¢ 74 5. 59 1w 5,625, €A WwiF & forg

| foaT Yae fear (ud )2

(a) 4500

L(b)4800
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2%. The average weight of P and hi thre ‘ ds'is 55kg. If
P is 4 kg more than the average weight of his three friends,
what is P's weight (in kg)?

P 3R IHP i1 Gl &1 3iFd gei 55 fear g1 afg p s
| 9 gRdl & 3ffd 9o 9 4 forert siftres 8, @ P &1 qerH
| (el ) T 87
 (a)60

L (b)54
()58
(d)62




f IS three fric Hends is 55 kg. If
P IS 4 kg more than the average weight of his three friends,
what is P's weight (in kg)?

P 3MR 3D oI Sl BT 3Nd e 55 fear 21 afe P 3=
| 1 gl & 3fiNTd 991 9 4 e siftre 8, a’rpmavﬂ

| (Frat ) 7 32
' (a)60

L (b)54

(d)62




Q:-6. The angle of elevation of the top of an unfinished tower at
a point distant 78 m from its base is 30°. How much higher
must the tower be raised (in m) so that the angle of elevation of

the top of the finished tower at the same point will be 60°? |
| T 3¢ AR & 3MUYR § 78 MR 31 gl MR @ AR AR & Ry |
' IAYA B0 30° B | TTaR Bl fha=1 S (Hiex #) I foar sirr anfge arfes It

| g IR R eraR & =M &1 37T 10T 60° BI?2
(a)52V3
| (b)26V/3
(c)80
(d)78V3
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must the tower be raised (in m) so that the angle of elevation of
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TP Y TR & SMUR | 78 Wex 3 gt IR UG T 3R TR & RRaR &1
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ANl d/d /?‘vpa

hose speed is 20 km/R ini sfil water takes
30 minutes more to go 24 km upstream than to cover the same
distance downstream. If the speed of the boat in still water is
mcreased by 2 km/h, then how much time will it take to go 39
' km downstream and 30 km upstream?

| Aiexdic ford®! ifd 2nid s | 20 feHiEer g %rm%uﬁlﬁ
24%11131%13%%@3%%% mmﬁﬁm |
# 30 fie oifte A<l g1 g EICEIRIGE: ¥
Rpefi/eT &) gfg R & oIt 2, 9 3 URT & 39 foeht
3R URT & 30 fpeht 9 A fpa= w0y ? *
(@)2 h 50m (RN

(b)3 h 10m

(c)3 h 40m
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hose speed is 20 km/R ini sfil water takes
30 minutes more to go 24 km upstream than to cover the same
distance downstream. If the speed of the boat in still water is
mcreased by 2 km/h, then how much time will it take to go 39
' km downstream and 30 km upstream?

| Aiexdic ford®! ifd 2nid s | 20 feHiEer g %rm%uﬁlﬁ
24%11131%13%%@3%%% mmﬁﬁm |
T 30 fiAe siftre Adt 21 Tfe GICKEARIGE: P
fpriteer & PRSI e, AT URT P 39 fpeht
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me students (only ol andgitls) form-different schools
spéared for an Olympiad exam. 20% of the boys and 15% of
the girls failed the exam. The number of boys who passed the
‘'exam was /0 more than that of the girls who passed the exam.
|A total of 90 students failed. Find the number of students that 5

‘appeared for the exam ?

| faf el & O O (bad dss 3R AS(Hi) icfuars

qSte & U 20% TSP 3N 15% TS IHai THemn & |
% gl T | URI&T S<UT B aTel AS DI Hi TT YIL&IT S0l
B dTell defedl Bt G A 70 3w At T 90 BT b

g1 GHaT & 934 arel Ol B T 7
RO T{5}]
(b) 420 I

ANATA

?




the girls failed the exam. The number of boys who passed the
exam was /0 more than that of the girls who passed the exam.
jA total of 90 students failed. Find the number of students that

”a peared for the exam ?
B (had dS® MY dsihaN) fafuars

tr\ﬁ&rr% TT1 20% ASH 3R 15% TS Hai wam F |
a8l T | TET S0 B dTel dS | Pl JSAT Y& I<of
aﬂﬁm?ﬁa@ﬁ?ﬁﬁwﬁmameﬁ QOWW

g1 Uien # 934 91 BT B =T I

(a) 350

(b) 420

ANATA
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Q:-10. In a AABC, points P, Q and R are taken on AB, BC and

CA, respectively, such that BQ = PQ and QC = QR. If <BAC =

75°, what is the measure of <PQR (in degrees)?

TS ABC H, fig P, Q 3R R &1 UM AB,BCHRCATR ST |
g forar 5imaT @ fh BQ = PQ 3R QC = QR 1 afe <BAC = 75°,

<PQR (f$3t #) &1 AT 1 82

L (a) 75

(b) 50 rf
(c) 30
(d) 40




Q™=11. A certain sum is deposited for 4 years at a rate of 10%
per annum on compound interest compounded annually. The
difference between the interest at the end of 2 years and that at

the end of 4 years is Rs. 5,082. Find the sum (in Rs.) ?

U (A3 IR ATe Tshqfes TS R 10% Ufd a9 &1 g3 9 4 A1 &
| fo7T ST 1 STl 81 2 99 & 3id H 3MiR 4 94 & 3id H U1l & " &1

3ieR 5,082 FUY g | IR FTd ST (FUA H)
|(a) 20000
(b) 10164
(c) 50820

(d) 25500
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Q=12. The ratio of the monthly incomes of Aand Bis 11:13 and
the ratio of their expenditures is 9: 11. If both of them manage to
' save Rs. 4,000 per month, then find the difference in their
incomes (in Rs.)
| A 3R B P ISP 3T BT 11:13 8 3R I Y H1
;%rtrmg:ﬂéltr%%aﬁ:l’f T BT UG HId g | 4,000

} )4;[)%', dl S9! 3T H 3a? JTd oI (U H)
. (d

(b)2500

(€)3000

(d)3200




Q=13. A solid cube of side 8 cm is dropped into a rectangular

container of length 16 cm, breadth 8 cm and height 15 cm

which is partly filled with water. If the cube is completely
submerged, then the rise of water level (in cm) is:

8 qHl m@rwaﬁwwﬁw@tﬁw@ -8 IHY TS 3R 15 TH
"W%igwamwuﬁﬁﬁwm oIl 3 U 4 U=t 9
URT

21 9f¢ ¥4 O aRE A AT g3 ¢, 9 o WX | gfg ([t F) 7 ,)
"
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S=¥4. 0Sts Rs. 400."During a festival sale, a company

offers a sale discount that offers X% off on its regular price

along with a discount coupon of 10%. The price of the item
 after using both the sale discount and the discount coupon, is |
Rs. 216. What is the value of x? T& G P PIHd ¥. 400. '

| o e st & IR, T Ut T R o TeE Bvedt

2 Sl 10% & fexpTde $U= & A1Y 31U FAafid 40 o= X%
gmmélﬁaﬂwaﬁvwwﬁmmﬂ
P & TIG a¥d DI BIHd FUL 81 216. x BT HIF T 8?2
BEN

(b)40

(c)35




Q:-15. If x + y +3=0, then find the value of x3 + y*-9xy +9 = ?
gfe x +y+ 3=0, ol x3+ y3-Oxy +9 = ? BT HIA JATd ?

(A)-36
C)RE
(C)36
(D)18




Q:-16. Find the value of the following
expression:

FgferRad sioie &1 419 JTd B
372 + 56 x 7-5+2
(a) 58
(b)43;
95
(C)-25;

93
(d)2 o5







